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Part A: Grammar
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-As we embark on this new chapter filled with endless possibilities and opportunities, ... committed
to our vision, shall we?
1) we shan’t stay 2) and stay
3) we stay 4) let’s stay
2-It is of utmost significance a sustainable and equitable solution ... to address the pressing
environmental challenges facing our planet.
1) implement 2) be implemented
3) have been implemented 4) being implemented
3-The president has ordered the incumbent secretary, promptly ... his resignation within the
specified timeframe.
1) tenders 2) should be tendered
3) to tender 4) tender
4-The rugs in the living room have not undergone the process of cleaning as of now, ... .
1) and the drapes adorning the windows have not either
2) but the drapes adorning the windows did not neither
3) but the drapes adorning the windows have not neither
4) and the drapes adorning the windows did not either
5-In the pursuit of a harmonious global landscape, my country ardently aspires for enduring peace,

1) all the other countries aspire for enduring too
2) and all the other countries are too
3) and so do all the other countries
4) and either all the other countries do

6-The academic environment encourages language learning, but ... capable of speaking English
fluently, are they?
1) only few students were 2) very a few students were
3) very few students are 4) a few students are

7-He mentioned that he ... and present his research on climate change and its impact on coastal
communities.
1) would be attending the conference the following week
2) had attended the conference next week
3) will be attending the conference next week
4) would attend the conference the following week

8-Stimuli from the surrounding environment ... a crucial role in shaping an individual's cognitive
responses and influencing their overall behavioral patterns.
1) play 2) have been played
3) has played 4) plays

9-Only after the detailed mural was completed did the exhausted artist, having worked on it for
weeks, finally ... what a tremendous task he had accomplished.
1) realize 2) realizing
3) had realized 4) realized

10-He wishes with all his heart that he ... the unfortunate and unexpected accident that occurred last

week.

1) has been able to avoid 2) could avoid
3) was able to avoid 4) could have avoided
11-They are looking ... the scenic countryside on their upcoming hiking trip next weekend.
1) for it to explore 2) after and exploring
3) forward to exploring 4) into exploring
12-The athlete ... following the training regimen diligently, considering the lack of improvement in his
performance.
1) can’t have been 2) needn’t have been
3) shouldn’t have been 4) ought not have been

13-A: Did the management carry out the plan to downsize the workforce?
B: Yes, the management ..., and it resulted in layoffs.
1) carried them out 2) carried out it 3) carried it out 4) carried out them
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14-He was lucky that he left his phone at home on the day of the robbery; he ... all his important data.
1) may lose 2) could have lost
3) could lose 4) may be lost

15-Having invested all his savings in a risky business venture, he now wishes that he ... professional
advice before making such a significant financial decision.
1) would seek 2) sought 3) had sought 4) seeks

Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

16-Society typically brings pressure on individuals and groups to ... to civilized norms.
1) behave 2) conform
3) revolt 4) maintain

17-Some ELT professionals ... English in the international context as a culture-free or culturally-
neutral language.
1) fantasize 2) refer
3) pose 4) regard

18-Volunteering for an organization that ... older people is a key way of helping a lonely or socially
isolated older person.
1) permeates 2) supports
3) irritates 4) pursues

19-Abundant fossil bones, teeth, track ways, and other hard evidence have ... that Earth was the
domain of the dinosaurs for at least 230 million years.
1) revealed 2) declared
3) resulted 4) committed

20-Thanks to the field of linguistics, we know much about the ... of the 5,000 plus languages in
existence today.

1) intervention 2) movement
3) development 4) competition
21-His ... laughter indicated that he found the joke amusing but didn’t want to be too loud.
1) muffled 2) incessant
3) hysterical 4) mocking

22-Food is just about his only remaining pleasure up here, and that is why he ... dives into vast
platefuls of it whenever he gets the chance.

1) individually 2) greedily
3) playfully 4) readily
23-The idea of ... our lives may not be so appealing if we feel miserable and isolated.
1) outlasting 2) preserving
3) persisting 4) prolonging
24-Learning from mistakes is a/an ... part of the learning process, encouraging growth and development.
1) unpredictable 2) inevitable
3) worthless 4) minor

25-Despite being a newcomer, Jenna’s incredible performance in the play managed to ... the spotlight
from the seasoned actors.

1) turn 2) get
3) receive 4) steal

26-Smartphones have evolved into ... tools that people use for communication, entertainment, and information.
1) useless 2) inefficient 3) antique 4) indispensable

27-The teacher’s intriguing question about the stars and galaxies ... the students’ curiosity and made
them more interested in astronomy lessons.
1) ruined 2) acquired 3) converted 4) sparked

28-After decades of serving a life ..., new evidence came to light that led to his exoneration, raising
questions about wrongful convictions and the fallibility of the justice system.
1) span 2) expectancy 3) sentence 4) achievement

29-He cautioned his younger brother against making a/an ... decision about dropping out of college
and emphasized the importance of careful consideration.
1) impetuous 2) final 3) wise 4) extravagant

30-Her exceptional talent on the tennis court, combining agility with strategic play, ... her from her
peers and has led her to win multiple junior championships.
1) recognizes 2) deprives 3) distinguishes 4) elicits

31-The concept of digital currency was in its ... in the early 2000s, and few could predict the impact it
would have on the global financial system.
1) childhood 2) infancy 3) evaluation 4) stage
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32-The company will formally ... the employees’ outstanding performance at the upcoming awards
ceremony to celebrate their achievements and dedication.

1) deliberate 2) acknowledge
3) confront 4) complement
33-Following the devastating natural disaster, the government allocated funds for the ... of the
affected areas, aiming to rebuild homes and infrastructure for the affected communities.
1) advent 2) registration
3) revenue 4) restoration

34-The geologist identified a/an ... of fossils in the sedimentary rock, revealing the rich biodiversity
that thrived in the region millions of years ago.
1) trace 2) outcome
3) component 4) shift

35-The protagonist of the novel seemed to ... the spirit of resilience, facing adversity with courage and
determination throughout the story.
1) embody 2) recollect
3) accelerate 4) rehearse

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) A lot of people lost their homes when the interest rate rose so much that they were unable to pay off
their loans.
2) So much was the interest rate raised that were unable to pay off their loan a lot of people and lost their
homes.
3) Lots of people were unable paying off their loans and lost their homes as the interest rate rose so much
for them.
4) When the interest rate rose so much that lots of people lost their homes and were unable to pay off
their loans.
37-
1) We really didn’t get along well as a child, so my grandmother didn’t have a very nice personality.
2) Not having a very nice personality, my grandmother and I couldn’t got along well when I was a child.
3) As a child, my grandmother and I hadn’t got along well but she didn’t have a very nice personality,
4) My grandmother didn’t have a very nice personality, so we didn’t get along well when I was a child.
38-
1) There is a notice on the bulletin board that all students who need housing go to Room 742.
2) There is a notice for those on the bulletin board that every student needs housing and goes to Room 742.
3) There is a notice for housing needed those students on the bulletin board and that they went to Room 742.
4) On the bulletin board, there is a notice that each of the students who need housing goes to Room 742.
39-
1) Neil Armstrong was member of the first group of astronauts walking on the moon and being a hero to many.
2) Neil Armstrong, a member of the first group of astronauts, he was a hero to many and walked on the moon.
3) Neil Armstrong, a member of the first group of astronauts who walked on the moon, was a hero to many.
4) Walking on the moon as member of the first group of astronauts, Neil Armstrong was a hero to many.
40-
1) Since my brother had not understood the chemistry lectures at all and failed the examination.
2) Having not understood the chemistry lectures, my brother failed the examination.
3) My brother, because he hadn't understood the chemistry lectures at all, failing the examination.
4) My brother had not understood the chemistry lectures at all, thereby failing the examination.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: I’m thinking about running a marathon. I have ...(41)... though. It’s going to be difficult!

B: What? It’ll be easy for you. You’re ...(42)... .

A: I know I’m always calm when I start the race but then I get so tired in the middle. I
eventually get a ...(43)... though.

B: Hope for the best. I’ll come to cheer for you!
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41-1) a feather in my cap 2) butterflies in my stomach

3) a magic touch 4) my head in the clouds
42-1) full of beans 2) at a crossroads

3) as fit as a fiddle 4) stone cold
43-1) second wind 2) green thumb

3) tall order 4) bed of roses

A: Hey, did you catch Peter Cech’s last game for Chelsea?

B: Yeah, it was emotional. It felt like the legendary goalkeeper’s ...(44)... at Stamford Bridge.
A: Definitely. I think we need to get together and ...(45)... about all his greatest saves and iconic
moments with Chelsea.

44-1) sacred cow 2) sweet tooth

3) fish story 4) swan song
45-1) make a fast buck 2) chew the fat

3) burn bridges 4) tighten our belts

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

Artificial Intelligence (AI) has emerged as a transformative force, revolutionizing various aspects of
our lives. Its importance cannot be overstated, ...(46)... enormous potential to shape the future and
foster innovation across multiple industries. In fact, AI has proven to ...(47)... bullet that addresses
complex problems and unlocks new opportunities.

One key area where Al is making significant ...(48)... is healthcare. With advanced algorithms and
machine learning techniques, AI has the ability to analyze vast amounts of medical data quickly and
accurately. This enables ...(49)... diseases, personalized treatment plans, and improved patient
outcomes. Al-powered systems can assist doctors in diagnosing complex conditions, reducing human
error, and ultimately ...(50)... lives. Transportation is another area ...(51).. Al is playing a
transformative role. Autonomous vehicles powered by Al algorithms have the potential to reduce
accidents, enhance traffic management, and revolutionize logistics. With Al, transportation systems
can become more efficient, ...(52)..., and safe. Education is also being positively impacted by Al
Adaptive learning platforms use AI algorithms to personalize educational ...(53)... based on
individual student needs, improving engagement and learning outcomes. Al-powered virtual
assistants ...(54)... to provide tutoring and support, making education more accessible and inclusive.
However, it is important to approach the development and deployment of AI ethically and
responsibly. Safeguarding privacy, ensuring transparency, and addressing bias are crucial
considerations. Striking the right balance between Al's capabilities and human oversight is essential
to ...(55)... its full potential.

46-1) but that holds 2) as it holds 3) and holds it with 4) holding it
47-1) bite the 2) be the silver 3) dodge a 4) sweat
48-1) strides 2) events 3) influences 4) dimensions
49-1) us to detect early 2) to early detect

3) and detects early 4) early detection of
50-1) saves 2) saving 3) to save 4) saved
51-1) that 2) what 3) where 4) which
52-1) sustainable 2) inadvertent 3) profound 4) transient
53-1) background 2) expense 3) pursuit 4) content
54-1) are using 2) which are used 3) are being used 4) used
55-1) harness 2) believe 3) produce 4) permit

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:
The World Economic Forum (WEF) is an international non-governmental organization that fosters
public-private cooperation to address global challenges. Founded in 1971 by Klaus Schwab, a
German engineer and economist, the WEF convenes annual meetings in Davos, Switzerland, where
leaders from various sectors of society are specifically invited to exchange ideas and collaborate on
initiatives. The WEF also organizes regional and industry-specific events, publishes reports and
research, and engages in various projects and communities.

The WEF’s mission is to improve the state of the world by facilitating dialogue and action among
stakeholders who have the power and influence to make positive change. The WEF operates on the
principle of stakeholder theory, which is a theory of organizational management and business ethics
that asserts that an organization is accountable to all parts of society, not just its shareholders. The
WEF’s activities are guided by a unique institutional culture that combines entrepreneurship,
innovation, and moral and intellectual integrity.
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The WEF’s agenda covers a wide range of topics, such as climate and nature, health and
healthcare, artificial intelligence and emerging technologies, trade and investment, gender inequality,
and leadership and governance. The WEF aims to provide a platform for shaping global, regional,
and industry agendas, as well as a catalyst for transforming ideas into action. The WEF’s impact is
measured by the outcomes and solutions that result from its activities, as well as by the trust and
confidence that it builds among its stakeholders.

The WEF’s partners include leading corporations, governments, international organizations, civil
society organizations, academic institutions, media outlets, and cultural leaders. The WEF’s
communities consist of various networks and groups of experts, innovators, and change-makers who
contribute to the WEF’s mission and vision. The WEF’s sustainability efforts include reducing its
environmental footprint, enhancing its social responsibility, and ensuring its financial viability.

56-Which one of the following can be the most suitable topic for the passage?
1) The World Economic Forum: The Media Outlet of the World
2) The World Economic Forum: A Community of Stakeholders
3) The World Economic Forum: A Platform for Global Cooperation
4) The World Economic Forum: Non-Governmental Organizations and their Missions

57-Based on the information from the passage, it can be assumed that ... .
1) the World Economic Forum is accountable to certain parts of society, and just its shareholders
2) the flagship event of the World Economic Forum is the invitation-only annual meeting
3) the World Economic Forum is funded by the Swiss government
4) the World Economic Forum only publishes reports, but does not engage in any projects

58-Which of the following terms have been defined in the passage?
1) Gender inequality
2) Environmental footprint
3) Stakeholder theory
4) Public-private cooperation

59-According to the third paragraph of the passage, how can we know of WEF’s influence on societies
across the globe?
1) By the trust and confidence that it builds among its stakeholders
2) By the wide range of topics it has covered
3) By the number of ideas it has transformed into action
4) By the outcomes and solutions that result from its activities

60-It can be inferred from the fourth paragraph that WEF’s sustainability goals go hand in hand with
its attempts to ... .
1) reduce its environmental footprint
2) facilitate dialogue and action
3) hiring experts, innovators and change-makers
4) utilizing artificial intelligence

PASSAGE 2:

A snowfall consists of countless tiny ice crystals that fall to the ground as frozen precipitation. The
process begins with these ice crystals forming in the subfreezing layers of the middle and upper
atmosphere when there is enough moisture present. Each ice crystal has a tiny nucleus, a solid
particle around which moisture condenses and freezes. In the super cooled atmosphere, liquid water
droplets and free ice crystals cannot coexist within the same cloud, so the ice crystals take moisture
from the droplets and continue to grow. This process can happen quickly, creating larger ice crystals
that may adhere to each other to form a snowflake or a cluster of ice crystals. Simple flakes come in a
variety of beautiful forms, often hexagonal, although the symmetrical shapes seen in most microscope
photographs of snowflakes are not commonly found in real snowfalls. Typically, snowflakes in actual
snowfall consist of broken fragments and clusters of ice crystals sticking together.

For a snowfall to continue, there must be a constant supply of moisture to support the nuclei. This
moisture comes from an airstream passing over a water surface and then rising to higher regions of
the atmosphere. The Pacific Ocean is the source of moisture for most snowfalls west of the Rocky
Mountains, while the Gulf of Mexico and the Atlantic Ocean provide water vapor for the central and
eastern sections of the United States. Other geographical features can also be sources of moisture for
snowstorms. For example, areas near the Great Lakes have their own unique lake-effect storms,
which are caused by a variation of the process on a local scale. Additionally, mountainous areas or
rising terrain can initiate snowfalls by lifting a moist airstream due to geographical features.

61-Which of the following questions does the author answer in the first paragraph?
1) Why are snowflakes hexagonal?
2) What is the optimum temperature for snow?
3) In which months does most snow fall?
4) How are snowflakes formed?
62-What is at the center of an ice crystal?
1) A small snowflake 2) A nucleus
3) A drop of water 4) A hexagon
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63-What is the main topic of the second paragraph?

1) How ice crystals form 2) How moisture affects temperature

3) What happens when ice crystals melt 4) Where the moisture to supply the nuclei comes from
64-What is necessary for a snowfall to persist?

1) A decrease in the number of snowflakes 2) Lowered vapor pressure in ice crystals

3) A continuous infusion of moisture 4) A change in the direction of the airstream

65-Which of the following could account for the lack of snowfall in a geographical location close to
mountains and a major water source?
1) Atmospheric temperatures above the freezing point.
2) Too much moisture in the air
3) Too much wind off the mountains
4) Ground temperatures below the freezing point

PASSAGE 3:

Deconstruction is a philosophical and literary movement that challenges the assumptions of Western
thought and exposes the contradictions and ambiguities of language. It was developed by the French
philosopher Jacques Derrida in the 1960s and influenced many fields of study, such as law,
psychoanalysis, architecture, and feminism.

One of the main concepts of deconstruction is the critique of binary oppositions, which are pairs of
terms that are seen as opposite and hierarchical, such as nature/culture, speech/writing,
presence/absence, and literal/metaphorical. Derrida argues that these oppositions are not natural or
fixed, but rather constructed by the text and the culture. He shows that the terms are not
independent or mutually exclusive, but rather depend on each other and can be reversed or
subverted.

Another key concept of deconstruction is the idea of differance, which is a term that Derrida
coined to describe the process of meaning-making in language. Differance means both difference and
deferral, implying that the meaning of a word is not given or stable, but rather derived from its
contrast with other words and deferred to other contexts and interpretations. Derrida claims that
there is no ultimate or original meaning, but only an endless play of signifiers and signifieds.

Deconstruction is not a method or a doctrine, but rather a way of reading and questioning texts
and their assumptions. It does not aim to destroy or negate meaning, but rather to open up new
possibilities and perspectives. Deconstruction is not a nihilistic or relativistic approach, but rather a
critical and ethical one, as it seeks to expose the hidden power structures and ideologies that shape
our understanding of the world.

66-According to paragraph 2, Derrida was of the opinion that oppositions are ... .

1) inherent and constant 2) a notion related to relativism
3) separate and incompatible 4) a creation of the text and the culture

67-Why has the author provided the readers with a definition of the term “differance” in the third
paragraph?

1) To show the contrast between differance and difference
2) To discuss a concept that illustrates the instability of language
3) To coin a term that is central to deconstruction
4) To show how a word can be independent from its context
68-The word “interpretations” in the third paragraph can best be replaced by “....”
1) writings 2) inductions
3) understandings 4) translations
69-1t can be inferred from the passage that it is a misconception to believe ... .
1) deconstruction is directly related to the concept of nihilism
2) deconstruction is here not to destroy meaning but to provide new perspectives
3) deconstruction is a philosophical movement which has influenced psychoanalysis
4) deconstruction is a way of reading and questioning texts and the general assumptions
70-According to the passage, all of the following are some of the ways in which deconstruction has
challenged the assumptions of Western thoughts EXCEPT ... .
1) exposing the contradictions and ambiguities of language
2) critiquing the binary oppositions and their hierarchies
3) advocating the superiority of writing over speech
4) revealing the made-up ideologies that shape our understanding of the world
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